XYZ2,=97.06, 99.99, 104.57

by =by 2/}

=1, b,y =04

X, =0,110,B, = 1,
Copr=[A/+B{]

6 OslwaIdFarben (o)

56, -2,) Y
58, (b, by,) Y
a=ay[ (x-x,) /%

Parameter:

Y & Name
Lichtart P60
Y,,=100 Y\=0

von (m)Cygim |
Buntwertdiagramm (A, B) ~ ~100
Lichtart P60, Y, _1UQ Yy=0

Name Bereich X,
R, 568_775 6281 40.12
¥, 494 775 7975 0458
G 494 568 17.12 54.66
C, 380_568 34.44 60.07
B, 380 494 1751 561
M, 568_494 80.13 4553
W,,380_775 97.06 99.99
N, 380775009 009
7, 380_775 17.47 17.99

o6 “eontlossB 5 B
661 0.4407 05227571 463
656 0.2186 0.6976 535 535¢
104520173 03018 489 596
98.17 01443 0.0462 463 571
98.22 03579 0.2033 5350535
1045703218 0.3315  100%
01 03216 03314 0%
18.82 0.3218 03315 18%
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